71
YV a R2EBENDEFp.105, 4.1-prob5(3H KBi)
[> Int(1/(2+cos(t)),t=0..2*Pi);
2T
1
m dt (1.1.1)
[> int(1/(2+cos(t)),t=0..2*%Pi);
%*ﬂJg_ 1.1.2)
¥Yb
[> £1:=unapply(convert (series (sqrt(1l+x),x,2),polynom),
X);
f2:=unapply(convert (series(sqrt(1l+x),x,3),polynom),
X);
J1=x—1+ %x
ey Lo L2 1.2.1
R=x TX g (1.2.1)
[> £1(0.1);
£2(0.1);
1.050000000
1.048750000 1.2.2)
> £1(0.01);
£2(0.01);
1.005000000
1.004987500 (1.2.3)
V2
VYa
[59 5&, BRSP4
> restart;
with(LinearAlgebra):
A:=Matrix([[1,0,0],[1,0,1],[0,1,0]]);
100
A=]101 @2.1.1)
010
> A"2;
(2.1.2)

> A"3;

> A"98;

49 1 0
49 0 1
> A"99;

50 0 1
4910
> A~100;

5010
50 0 1

> A:=Matri>.€([[-1r31012] ,[1,7,2,121,(2,-1,1,3]]1);
#A==Matr1x([[1lol_ll_2]I[_11112I3]1[2111_11_3]]);

-1 30 2

A= 1 7212

2 -11 3

> P,L,U:=LUDecomposition(A);

100 o -1 30 2

-1 1 0
PLU=[010| R 010 2 14
001 —ZLI 0 00 O

> eq2:=GenerateEquations (U, [x,y,z,u]);
eq2 =[-x+3y+2u=0,10y+2z+14u=0,0=0]
> solve(eq2,[x,y,z,ul);
[[x=3y+2u,y=y,z=-5y—Tu,u=ul]

V3.a
(> y1l:=x->6*x"2+11%x-10;

2.1.2)

(2.1.3)

2.1.4)

2.1.5)

(2.1.6)

@.2.1)

2.2.2)

2.2.3)

2.2.4)



yl=x—6x" +11x—10
[> plot(yl(x),x=-5..5);

180
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140
1201
100
801
60
401
20+

-4 S o

\

> solve(yl(x)=0,x);

[SIRV

L
T

> y2:=x->yl(x-a)+b;
y2=x—-yl(x—a)+b
> sl:=solve(y2(0)=0,b);
sl:=10—6d"+1la
> collect (subs(b=sl,y2(x)),x);
63>+ (-12a+11)x

3.b

[> s2:=solve(y2(-2)=y2(3),a);
s2::£
12
[> y30:=subs (b=s1,y2(x));
y31l:=subs(a=s2,y30);
¥30:=6 (x—a)’ +11x—6d°

2

17 289
y31.—6[x—E) +11X—W
[> y3:=unapply(y31,x);

17

2
289
y3=x—6 (x— —j + 11x—

12 24

> plot(y3(x),x=-2..3);

3.1

3.2)

(33)

(3.4)

(3.5)

@.1)

.2)

4.3)

30
20
10
-2 -1 0
> y3(-2);
36
[> s4:=solve(diff(y3(x),x),x);
1
s4 = ?
> y3(1/2);
_3
2

4.4)

@.5)

(4.6)



